BK S:t Erik
Mellandagssilver 2016-12-28

Partavling, 23 bord, 45 par. Antal brickor: 42. Medel: 880.6. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 22 1075.7 60.98 Goran Hammarstrom - Mikael Arnberg 11426 24686 BK S:tErik
2 19 1056.7 59.90 Par OI-Mars - Kenneth Borin 5342 2076 BK S:tErik
3 14 1027.5 58.25 Masha Lindback - Daniel Lindback 82835 9121 IK MAKKABI
4 13 1010.8 57.30 Michael Lemborn - Ylva Strandberg 1215 9217 Karlstads BK - BK S:t Erik
5 8 1000.8 56.73 Anders Bjorkman - Magnus Arve 56099 40423 BK S:tErik
6 11 994.2 56.36 Suzanne Lemborn - Tore Stormo 14984 78250 Karlstads BK - BK S:t Erik
7 31 990.5 56.15 Peter Bertheau - Markus Bertheau 16757 57666 Filbyter Bridge - BK S:t Erik
8 35 983.7 55.77 Hilding Rune - Margareta Walldin 8743 1907 BK Stjarnskotten
9 44 981.0 55.61 Leif Akerblom - Christer Koch 28274 85704 Alvik BC - BK S:t Erik
10 33 9723 55.12 Jan Ternstedt - Mats Felldin 589 58833 Arla BK - BK S:t Erik
11 7 968.5 54.90 Mats Axdorph - Lars Malm 2053 90738 BK S:tErik
12 25 967.1 54.82 Kathrine Bertheau - Renee Cooper 81089 60251 Filbyter Bridge - Uppsalabridgen
13 17 9555 54.17 Gudrun Strandberg - (ES)Tomas Wingvist 4143 - BK S:t Erik
14 26 953.6 54.06 Jan Larsson - Kenneth Gollne 5220 8730 BK Bridgeliv - BK S:t Erik
15 18 951.3 53.93 Jan-Olof Hegethorn - Tora Philip 12033 7780 BK S:tErik
16 24 9509 53.90 PG Eliasson - Lars Ramquist 2827 80480 Norrorts Bridge
17 43 937.5 53.15 Lennart Wiklander - Inga Wasteby 17072 10912 BK Stjarnskotten
18 32 937.1 53.12 Adam Stokka - Peter Flodqvist 30515 14778 BK S:tErik
19 46 921.7 52.25 Seymour Eriksson - Per Soderberg 57716 18380 BK S:tErik - Arla BK
20 36 910.8 51.63 Emanuel Unge - Erika Rodin 49509 93303 BK S:tErik
21 12 909.3 51.55 Ann-Sophie Andersson - Katrin Thorstrém 39116 39115 Rimbo BK
22 2 897.3 50.87 Rolf Nyman - Arne Lindqvist 2588 2598 Vasbybridgen
23 41 896.3 50.81 Robert Larsson - Linnea Edlund 15346 34773 Uppsalabridgen
24 27 890.3 50.47 Magnus Ekman - Peter Carlsson 6926 11594 BK S:tErik
25 37 8839 50.11 Fredrik Alfredsson - Bengt Wiberg 83200 80131 BK S:tErik - Arla BK
26 34 876.9 49.71 Per Clarin - Jesper Rundin 10538 80778 BK S:t Erik - Borlange BK
27 21 870.5 49.35 Eva Klingspor - Eva Zarins 26851 36267 BK S:tErik
28 29 868.5 49.23 S G Olsson - Bjorn Sonnevi 93556 56934 BK S:tErik
29 30 867.7 49.19 Gunnar Stockhaus - Peter Knutsson 2001 17442 Stureby BK - Gnesta BK
30 1 861.5 48.84 Bengt Gustafsson - Bengt Warn 33452 80115 BK S:tErik
31 15 853.1 48.36 Ann-Britt Carlén - Yvonne Flodqvist 88227 14805 BK S:tErik
32 6 840.7 47.66 Christian Wiechel - Tommy Sahlin 88390 31792 BK S:tErik
33 20 833.5 47.25 Marcus Lagerstrom - Daniel Bernholc +151 7533 BK S:t Erik
34 9 831.9 47.16 Lennart Eriksson - Erik Wiberg 9020 60427 BK S:tErik
35 5 828.5 46.96 Kerstin Hagglund - Christina Truuberg 82566 93305 BK S:tErik
36 3 809.3 45.88 John Strandberg - Anita Kropp 949 55699 Torshalla BK
37 4 802.5 45.49 Maria Calissendorff - Sofia Ryman 79968 78200 BK S:tErik - Arla BK
38 10 7715 43.74 Anders Johansson - Ann-Margret Johansson 10188 13810 BK S:tErik
39 16 757.8 4296 Jonas Mann - Castor Mann 88357 58464 BK S:tErik
40 38 721.0 40.87 Erik Tornvall - Agneta Aicardi-Holmstrom 52901 50831 Vastra Bjare BK
41 45 712.0 40.37 Piotr Deyna - Jan Rudenstedt 5724 6653 BK S:tErik
42 28 699.7 39.67 Annette Lindberg - Birgitta Alandh 12158 1908  Alvik BC - BK Tva Ess
43 42 6265 3551 Jan Asplund - Asa Trollborg 61074 61414 BK S:tErik
44 39 592.3 33.58 Walter Kegt - Ingvar Wistrom 55397 55396 BK S:tErik
45 40 5789 32.82 BarbaraLane - Gunilla Seth 52559 54302 BK S:tErik
1 4 K1085432 2 D7 3 4 D976
Nord vKn83 Ost v 10976 Syd v ED62
Ingen + K10 NS ¢ EKKn42 ov ¢+ KD743
+K #105 »-
46 & EKn9 4 EK98 4652 4 EKKn83 452
v K10 v 972 vD54 vEK3 v 107 v K954
¢+ Kn76542 ¢ D983 +106 +73 ¢+ E96 +5
#ED84 #Kn97 #K862 #EKn743 «D98 #EKn10732
D7 4 Knl1043 «104
v ED654 v Kn82 vKn83
¢+E + D985 ¢ Kn1082
#106532 D9 K654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 39 44 N= ¢5 420 400 2.0(38 9 44V-4 ¢A 200 420 0.0(38 9 44DV-2 +K 500 420 0.0
18 29 44 N= ¢3 420 40.0 20| 3 44 3NO-1 +8 50 29.0 13.0(41 6 3¢DN= a5 470 40.0 2.0
35 12 44 N= +8 420 400 20|11 36 3vO-1 ¢ A 50 29.0 13.0(14 33 3NV-2 ¢+K 200 36.0 6.0
13 34 5¢DO-2 4Q 300 350 7.0(13 34 34 O-1 +8 50 29.0 13.0(15 32 44 V-2 ¢+K 200 36.0 6.0
19 28 5¢DV-2 45 300 350 7.0(14 33 3NO-1 +8 50 29.0 13.0(19 28 34 V-2 ¢+K 200 36.0 6.0
5 42 34 N+1 +8 170 30.0 12.0(17 30 44 V-1 ¢ A 50 29.0 13.0| 5 42 3¢ N= 45 110 27.0 150
31 16 34 N+1 v2 170 30.0 12.0(18 29 44 V-1 ¢ A 50 29.0 13.0| 8 39 3¢ N= ¢5 110 27.0 15.0
38 9 34 N+1 +8 170 30.0 12.0|19 28 3NO-1 +8 50 29.0 13.0(13 34 3¢ N= 47 110 27.0 150
4 43 3NO-3 4Q 150 26.0 16.0(31 16 3NO-1 *4 50 29.0 13.0(18 29 3¢ N= 45 110 27.0 150
20 27 34 N= +8 140 240 18035 12 3NO-1 *4 50 29.0 13.0(26 21 2¢ N+1 45 110 27.0 15.0
41 6 5¢DV-1 42 100 220 20.0(40 7 340-1 +Q 50 29.0 13.0|35 12 2¢ N+1 vT 110 27.0 15.0
3 44 44 N-1 v9 -50 14.0 28.0|45 2 44 V-1 +K 50 29.0 13.0| 4 43 540-1 +J 100 19.0 23.0
11 36 44 N-1 v2 -50 14.0 28.0|46 1 3NV-1 ¢ A 50 29.0 13.0(17 30 2NV-1 +K 100 19.0 23.0
14 33 44 N-1 +8 -50 14.0 28.0| 4 43 2NO= s] -120 13.0 29.0(20 27 4¢DN-1 a5 -100 15.0 27.0
15 32 44 N-1 +8 -50 14.0 28.0| 5 42 INO+1 +5 -120 13.0 29.0(25 22 4¢DN-1 a5 -100 15.0 27.0
25 22 44 N-1 +8 -50 14.0 28.0|20 27 INO+1 +8 -120 13.0 29.0(37 10 44 O= +J -130 11.0 31.0
37 10 44 N-1 v2 -50 14.0 28.0|37 10 2NO= +8 -120 13.0 29.0(46 1 30 +1 +J -130 11.0 31.0
46 1 44 N-1 +Q -50 14.0 28.0|15 32 3% O +2 +8 -150 8.0 34.0| 3 44 440 +1 +J -150 8.0 34.0
26 21 54 N-2 +8 -100 5.0 37.0| 8 39 2NV +2 ¢A -180 3.0 39.0|/40 7 34 V+1 * K -170 6.0 36.0
45 2 4v S-2 46 -100 5.0 37.0|25 22 INO+3 LY -180 3.0 39.0|45 2 5¢DN-2 a2 -300 4.0 38.0
40 7 4vS-3 +6 -150 2.0 40.0|26 21 2N O +2 +8 -180 3.0 39.0|11 36 3#S-7 s A -350 2.0 40.0
17 30 4¢DV= v2 -510 0.0 42.0|41 6 2NO+2 +8 -180 3.0 39.0|31 16 54 0= aT -600 0.0 42.0
24 - 22.6 24 - 22.6 24 - 22.6
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4 « E7653 5 «E10 6 « D84
Vast v DKn102 Nord v EKn7 Ost v 64
Alla +E NS ¢+ KD42 ov + EK1092
#D43 #E852 #E107
& Kn8 « D109 4 K754 4 Kn98 41092 4 EKKn7653
vE73 v6 vD543 vK982 v10952 vDKn
¢+ Kn1097643 ¢ D852 ¢ E7 4109853 +D4 +8
*2 #EK1076 #DKn3 #K #KKn53 #982
& K42 « D632 a-
v K9854 v 106 v EK873
*+ K ¢ Kn6 ¢ Kn7653
#Kn985 #109764 D64
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
15 34 3v S+1 2 170 420 00| 1 3 4vDO-2 +J 300 420 00| 1 3 5¢ S+l T 420 38.0 4.0
19 30 3v N= A 140 37.0 5.0|19 30 2N N+2 +5 180 40.0 2.0|14 35 5¢ N+1 oA 420 38.0 4.0
20 29 24 N+1 «K 140 37.0 50| 6 43 2NN +1 T 150 38.0 40|16 33 5¢ S+1 a2 420 38.0 4.0
32 17 24 N+1 A 140 37.0 5.0]21 28 INN+1 T 120 36.0 6.0|25 24 4v S= a2 420 38.0 4.0
41 8 24 N+1 A 140 37.0 5.0|27 22 3vDO-1 +J 100 340 80|46 2 4v S= 49 420 38.0 4.0
4 45 24 N= &K 110 29.0 13.0(39 10 INN= *T 90 32.0 10.0|21 28 3NN= &6 400 30.0 12.0
21 28 24 N= «A 110 29.0 13.0(15 34 3vO-1 +J 50 26.0 16.0(32 17 3NN= vQ 400 30.0 12.0
42 7 24 N= «A 110 29.0 13.0(25 24 3v0O-1 &T 50 26.0 16.0(39 10 5¢ N= aA 400 30.0 12.0
46 2 24 N= &A 110 29.0 13032 17 3vO-1 &4 50 26.0 16.0| 9 40 34DO-1 vA 200 26.0 16.0
5 44 34 N-1 *A -100 20.0 220(41 8 INV-1 »5 50 26.0 16.0|18 31 4¢ S+2 T 170 23.0 19.0
9 40 44 N-1 *A -100 20.0 220(46 2 INV-1 2 50 26.0 16.0|20 29 4¢ N+2 K 170 23.0 19.0
14 35 34 N-1 A -100 20.0 22.0( 4 45 1vO= *J -80 20.0 22.0| 5 44 4¢ N+1 A 150 20.0 22.0
18 31 4v S-1 *2 -100 20.0 220 9 40 2NN-1 *T -100 18.0 24.0(12 37 34 O-1 vA 100 17.0 25.0
39 10 4v S-1 *2 -100 20.0 220| 5 44 2vO= +J -110 11.0 31.0(38 11 34 O-1 vA 100 17.0 25.0
6 43 4¢ V+1 vQ -150 14.0 28.0(16 33 2v O = *J -110 110 31.0|36 13 4v S-1 a2 -50 14.0 28.0
1 3 4vS-2 *2 -200 10.0 32.0(18 31 1v O+1 +J -110 11.0 31.0( 4 45 2NS-2 aT -100 9.0 33.0
12 37 44 N-2 *A -200 10.0 32.0(20 29 2v O= +J -110 11.0 310 6 43 3NDN-1 vQ -100 9.0 33.0
38 11 44 N-2 A -200 10.0 32.0(38 11 1v O+1 +J -110 110 31.0|{19 30 3NDN-1 vQ -100 9.0 33.0
36 13 44 N-3 *A -300 6.0 36.0(42 7 1lv O+1 *J -110 11.0 31.0(41 8 4vS-2 oT -100 9.0 33.0
16 33 4vDS-2 *2 -500 40 38.0(36 13 INV+1 +K -120 40 38.0(42 7 24 V+1 vA -140 4.0 38.0
25 24 5¢DV= vQ -750 1.0 41.0|12 37 2v O+1 +J -140 1.0 41.0|27 22 34DO= vA -730 2.0 40.0
27 22 5¢DV= vQ -750 1.0 41.0|14 35 2v O +1 &T -140 1.0 41.0|15 34 5vDN-4 +8 -800 0.0 42.0
26 - 22.7 26 - 22.7 26 - 22.7
7 LY 8 410 9 « KD96
Syd vE103 Vast v E6543 Nord v KKn96
Alla ¢ 7653 Ingen ¢+ D9743 ov 4952
£97532 &E8 &ED
«KD105 44 « D72 » EK8654 4 Kn8743 45
v K64 v DKn952 vK9 v DKn87 v4 v ED1072
¢+EK84 +D9 + Kn86 + K ¢ 107 + EKD643
*64 #EDKnN108 #Kn9542 #107 #K7432 #Kn
« EKn98763 4« Kn93 « E102
v 87 v 102 v 853
¢ Knl102 ¢ E1052 ¢+ Kn8
&K #KD63 109865
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
42 9 6NV-2 42 200 420 00| 2 4 4¢ N= A 130 370 50| 2 4 4¢DO-2 9 500 42.0 0.0
43 8 5v0-1 A 100 40.0 20| 6 45 4¢ N= K 130 370 50|22 29 3v0O-4 T 400 40.0 2.0
5 1 4 0= s A -620 350 7.0(22 29 4¢ N= K 130 37.0 5013 38 3¢ O-3 «5 300 38.0 4.0
13 38 4v O = s A -620 350 7.0(26 25 4¢ N= K 130 370 50| 6 45 5¢ O-2 +J 200 350 7.0
19 32 4v O = +J -620 35.0 7.0(27 24 4¢ N= sA 130 37.0 50|21 30 5¢ O-2 aA 200 350 7.0
46 3 4v O= +J -620 350 7.0(43 8 4¢ N= aA 130 37.0 50|17 34 4v O-1 «2 100 27.0 15.0
6 45 3NV +1 *2 -630 28.0 14.0(37 14 44 O-2 vT 100 30.0 12.0(20 31 3¢+ O-1 3 100 27.0 15.0
17 34 3NO+1 *2 -630 28.0 14.0(19 32 44 O-1 vT 50 28.0 14.0(26 25 2¢v O-1 +J 100 27.0 15.0
37 14 3NV +1 a2 -630 28.0 14.0(16 35 5¢ N-1 s A -50 25.0 17.0|27 24 3¢ O-1 T 100 27.0 15.0
7 44 4v O+1 &K -650 20.0 220(46 3 34S-1 +Q -50 25.0 17.0|39 12 3NV-1 +2 100 27.0 15.0
15 36 4v V+1 a2 -650 20.0 22.0(17 34 5¢DN-1 *2 -100 22.0 20.0(40 11 3¢ O-1 T 100 27.0 15.0
16 35 4v O +1 &K -650 20.0 220 5 1 14O+ vT -140 10.0 32.0(33 18 INN-1 *A -50 20.0 22.0
22 29 4v O+1 aA -650 20.0 220( 7 44 34 O= vT -140 10.0 32.0(19 32 2¢ O= &T -90 18.0 24.0
39 12 4v O +1 s A -650 20.0 22.0(10 41 34 O= *A -140 10.0 32.0(42 9 INN-2 *A -100 16.0 26.0
33 18 3NV +2 a2 -660 14.0 28.0(13 38 34 O= &K -140 10.0 320 7 44 2¢ O+1 &T -110 11.0 31.0
10 41 24DS-3 *A -800 11.0 31.0(15 36 34 O= vT -140 10.0 32.0(16 35 2¢ O +1 &T -110 11.0 31.0
40 11 24DS-3 ¢ A -800 11.0 31.0(20 31 24 O+1 vT -140 10.0 32.0(37 14 3¢ O= &T -110 11.0 31.0
2 4 34DS-4 ¢+A -1100 5.0 37.0|21 30 24 O+1 &K -140 10.0 320(43 8 2vO= *] -110 11.0 31.0
21 30 34DS-4 ¢+A -1100 50 37.0|33 18 34 O= vT -140 100 320 5 1 2vO+1 v3 -140 5.0 37.0
26 25 34DS-4 ¢+A -1100 5.0 37.0(39 12 24 O+1 vT -140 100 32.0(46 3 2v O+1 v3 -140 5.0 37.0
27 24 34DS-4 ¢+A -1100 5.0 37.0|40 11 24 O+1 vT -140 10.0 32.0(10 41 3¢ O +2 *5 -150 2.0 40.0
20 31 44DS-5 ¢+A -1400 0.0 42042 9 24 O+1 43 -140 10.0 32.0(15 36 2vDN-2 *A -300 0.0 42.0
28 - 16.7 28 - 16.7 28 - 16.7
10 « KKn8 11 « D874 12 «E72
Ost v 106 Syd v3 Vast v2
Alla ¢ K732 Ingen + EK87 NS + EKD108
#K943 #E875 #10954
476 4 E95 & Kn5 &« EK963 4843 4 KKn6
v D7 v Kn98432 v EKKn106 vD7542 vKD43 v987
¢ EDKn5 +10 ¢ DKn93 .- 4743 ¢ 652
#EKn1075 #D62 £102 #Kn93 #EK7 #D832
« D10432 102 « D1095
v EK5 v98 v EKn1065
+ 9864 4106542 ¢+ Kn9
&8 #KD64 £#Kn6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
20 33 4v O-3 8 300 420 0.0(28 25 4v V= *A -420 420 00| 6 2 3NN= &2 600 420 0.0
7 1 3#V-2 K 200 380 40| 3 5 4vV+l *A -450 32.0 10.0(40 13 2v V-3 ¢+A 150 40.0 20
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34 19 4v V-2 vT 200 38.0 4.0 8 45 5vV= *A -450 32.0 10.0|17 36 24 N+1 &2 140 37.0 5.0
46 4 3% V-2 4K 200 380 40|11 42 4y V+1 *A -450 32.0 10.0|38 15 24 N+1 &K 140 37.0 5.0
3 5 24 S+1 vQ 140 320 10.0(14 39 4v V+1 *A -450 32.0 10.0|11 42 2¢ N+2 v7 130 32.0 10.0
14 39 34 S= vQ 140 320 10.0|16 37 4v V+1 +8 -450 32.0 10.0|14 39 2¢ N+2 v9 130 32.0 10.0
41 12 24 S+1 vQ 140 320 10.0|20 33 4v V+1 a7 -450 32.0 10.0|43 10 2¢ N+2 v7 130 32.0 10.0
17 36 24 N= vQ 110 28.0 140|138 15 4v V+1 *A -450 320 100| 7 1 INN+1 &2 120 26.0 16.0
11 42 3a V-1 48 100 220 20.0(43 10 4v V+1 *A -450 32.0 10034 19 INN+1 &3 120 26.0 16.0
16 37 3v V-1 v6 100 220 20.0(44 9 4v V+1 *A -450 320 10.0|{44 9 INN+1 v9 120 26.0 16.0
22 31 34V-1 48 100 220 200 7 1 4v V+2 *A -480 15.0 270| 3 5 2¢ N+1 &2 110 18.0 24.0
43 10 3v O-1 42 100 22.0 20.0(17 36 4y O+2 *A -480 150 27.0| 8 45 2¢ N+1 &3 110 18.0 24.0
44 9 3v 0O-1 42 100 22.0 20.0(18 35 4v V+2 *A -480 15.0 27.0|22 31 2¢ N+1 &2 110 18.0 24.0
29 24 34 S-1 vQ -100 16.0 26.0|21 32 4v V+2 a7 -480 15.0 27.0|27 26 2v S= &A 110 18.0 24.0
8 45 2v V= a8 -110 11.0 31.0|22 31 4v V+2 *A -480 15.0 27.0|29 24 3¢ N= &3 110 18.0 24.0
27 26 2v O= &8 -110 11.0 31.0|27 26 4v V+2 *A -480 15.0 27.0|21 32 2¢ N= v7 90 11.0 31.0
38 15 2v O = LX) -110 11.0 31.0|40 13 4v V+2 *A -480 150 27.0|(46 4 2¢ N= *3 20 11.0 31.0
40 13 2v O= &8 -110 110 31.0|46 4 4v V+2 *A -480 15.0 27.0|28 25 2& V-1 v2 50 8.0 34.0
18 35 3v V= a8 -140 50 37.0| 6 2 4y V+3 *A -510 3.0 39.0[16 37 2¢ N-1 *2 -100 4.0 38.0
21 32 3v 0= &8 -140 5.0 37.0(29 24 4v V+3 K -510 3.0 39.0|18 35 3NS-1 &A -100 4.0 38.0
6 2 3vO+1 vA -170 20 40.0|34 19 4v V+3 *A -510 3.0 39.0|41 12 3NS-1 a3 -100 4.0 38.0
28 25 34DS-1 vQ -200 0.0 42.0|41 12 4y V+3 v3 -510 3.0 39.0{20 33 3NN-3 &3 -300 0.0 42.0
- 30 20.7| - 30 20.7| - 30 20.7
13 4932 14 « DKn843 15 853
Nord vKn Ost v D86 Syd v Kn64
Alla + E10763 Ingen + K10 NS +92
&E1096 #1032 #K10973
&4Kn8754 &10 & E10 & K9762 & EKn2 & KD9
vE62 v D987543 v Kn7 v E532 v103 v D8
+ D2 + K98 ¢ Kn73 + 962 + D10765 ¢ EKn83
&K87 &Kn2 &#KKn9764 #D »864 &#EDKnN2
« EKD6 a5 210764
v K10 v K1094 v EK9752
¢ Kn54 + ED854 + K4
D543 &E85 &5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
28 27 3NS= 5 600 420 0.0(18 37 2ND S +2 4T 690 42.0 0.0|17 38 2v N+1 &2 140 420 0.0
18 37 4vDV-2 vJ 500 39.0 30 9 1 3NS= vJ 400 380 4.0(29 26 3NO-2 v5 100 40.0 2.0
24 31 44DO-2 A 500 39.0 3.0(15 40 3NS= &7 400 380 40| 8 2 4e¢ V- v4 50 350 7.0
4 6 4vDV-1 a2 200 350 7.0|/30 25 3NS= &6 400 380 4.0|15 40 5¢ V-1 v4 50 350 7.0
19 36 4vDV-1 45 200 350 7.0|12 43 34 O-3 #A 150 32.0 10.0(22 33 3s4 V-1 v4 50 350 7.0
17 38 3¢ N+3 &2 170 320 10.0(17 38 2NN+1 &2 150 320 10.0({39 16 5¢ O-1 v4 50 350 7.0
44 11 4¢ N+1 T 150 30.0 12.0|29 26 2NS+1 &9 150 320 100| 7 3 3¢ V= v4 -110 30.0 12.0
29 26 4¢ N= T 130 28.0 140| 4 6 2NS= 9 120 28.0 140| 4 6 3¢ V+1 v4 -130 15.0 27.0
8 2 2NS= 8 120 250 17.0( 7 3 2¢ S+1 vJ 110 23.0 190 9 1 4e V= v4 -130 15.0 27.0
15 40 INS+1 a4 120 25.0 170|119 36 2¢ S+1 +3 110 23.0 19.0|12 43 2¢ V+2 *2 -130 15.0 27.0
35 20 24 S= vA 110 21.0 21.0|28 27 3¢ S= vJ 110 23.0 19.0|18 37 4¢ V= v4 -130 15.0 27.0
45 10 24 S= v2 110 21.0 21.0(39 16 2v S= A 110 23.0 19.0(19 36 4¢ V= v4 -130 15.0 27.0
7 3 5&S-1 vA -100 16.0 26.0|46 5 2& V-2 +K 100 18.0 24.0|21 34 4¢ V= v4 -130 15.0 27.0
21 34 5¢ N-1 T -100 16.0 26.0|21 34 3« V-1 +K 50 15,0 27.0|24 31 3¢ V+1 v4 -130 15.0 27.0
39 16 34 S-1 +Q -100 16.0 26.0|45 10 2& V-1 +K 50 150 27.0(28 27 3¢ V+1 vJ -130 15.0 27.0
42 13 3v O= & A -140 12.0 30.0|22 33 24 N-1 &Q -50 10.0 32.0(30 25 3¢ O+1 vA -130 15.0 27.0
9 1 2NS-2 vA -200 70 350|35 20 2vS-1 s A -50 10.0 32.0(35 20 3¢ V+1 v4 -130 15.0 27.0
22 33 44 S-2 vA -200 70 35.0|42 13 INS-1 &6 -50 10.0 32.0(42 13 2¢ V+2 &3 -130 15.0 27.0
30 25 44 N-2 v8 -200 70 350 8 2 24 N-2 &Q -100 6.0 36.0|44 11 4e¢ V= v4 -130 15.0 27.0
41 14 44 S-2 +Q -200 7.0 35.0(24 31 24 O= v9 -110 40 38.0|45 10 4¢ V= v4 -130 15.0 27.0
46 5 44 S-3 vA -300 20 40.0(41 14 24 N-3 &Q -150 20 40046 5 4e¢ V= vJ -130 15.0 27.0
12 43 44DS-3 vA -800 0.0 42.0|44 11 34DN-3 &Q -500 0.0 42.0|41 14 4v S-2 a A -200 0.0 42.0
- 32 223 - 32 223 - 32 22.3
16 & K952 17 « 10763 18 4732
Vast v D62 Nord v6 Ost vED106
oV ¢ 64 Ingen + K106 NS ¢ 107
D975 #KKn854 &EKKnG6
D108 &Kn7 « K985 442 4ED6 4985
vK875 vKnl10943 vD10432 vE98 v9872 vK4
+32 + D75 4953 + DKn742 4543 ¢ KKn9862
&#EKNnG62 #K108 &7 632 752 &DI10
« E643 & EDKn « KKn104
vE v KKn75 v Kn53
+ EKKn1098 +E8 ¢ ED
43 &ED109 #9843
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 41 44 N+1 vJ 450 410 1.0(29 28 3NS+2 45 460 420 0.0(19 38 3NN+1 49 630 420 0.0
29 28 44 N+1 vJ 450 410 10| 1 11 3NS+1 ¢+6 430 240 18.0( 1 11 4v N= a5 620 39.0 3.0
43 14 3NN+ vJ 430 380 40| 5 7 3NS+1 +3 430 24.0 18.0|24 33 4v N= +6 620 39.0 3.0
5 7 44 N= vJ 420 240 180| 8 4 3NS+1 +9 430 240 18.0|18 39 3NS= +3 600 36.0 6.0
8 4 44 N= vJ 420 240 180| 9 3 3NS+1 &7 430 240 18.0(10 2 34DO-2 T 300 34.0 8.0
9 3 4a4 N= vJ 420 24.0 18.0|13 44 3NS+1 v3 430 24.0 18.0|36 21 34 S+1 5 170 32.0 10.0
10 2 44 N= vJ 420 240 18.0(16 41 3NS+1 +3 430 24.0 18.0|29 28 2NS+1 +4 150 30.0 12.0
13 44 44 N= vJ 420 24.0 18.0(18 39 3NS+1 v2 430 24.0 18.0(40 17 3v N= a5 140 27.0 15.0
18 39 4y N= vJ 420 240 18.0(19 38 3NS+1 v5 430 24.0 18.0|45 12 34 S= +3 140 27.0 15.0
19 38 44 N= vJ 420 240 18.0(20 37 3NS+1 +3 430 240 18.0(31 26 44 S-1 *2 -100 22.0 20.0
20 37 44 N= vJ 420 24.0 18.0(22 35 3NN+1 +Q 430 24.0 18.0(42 15 4v N-1 +6 -100 22.0 20.0
22 35 44 S= v5 420 24.0 18.0|25 32 3NS+1 v2 430 240 18046 6 2NS-1 +5 -100 22.0 20.0
25 32 44 N= vJ 420 240 18.0(30 27 3NS+1 5 430 240 180 9 3 4v N-2 49 -200 18.0 24.0
42 15 44 N= vJ 420 240 18.0(31 26 3NS+1 v2 430 240 180 8 4 2NS-3 +3 -300 16.0 26.0
45 12 44 S= v7 420 24.0 18.0|36 21 3NS+1 9 430 240 180| 5 7 3NS-4 +3 -400 7.0 35.0
46 6 44 N= vJ 420 240 18.0(43 14 3NS+1 +9 430 240 18.0(13 44 3NS-4 +3 -400 7.0 35.0
36 21 34 S+3 v5 230 10.0 32.0(45 12 3NS+1 +3 430 240 18.0(16 41 3NS-4 +3 -400 7.0 35.0
1 11 34 N+1 vJ 170 70 350(46 6 3NS+1 v4 430 24.0 18.0|20 37 3NS-4 +5 -400 7.0 35.0
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30 27 24 S+2 v7 170 70 350|10 2 3NS= +5 400 40 38.0(22 35 3NN-4 +5 -400 7.0 35.0
31 26 24 N+1 v2 140 3.0 39.0|40 17 3NS= +3 400 40 380(25 32 3NN-4 2 -400 7.0 35.0
40 17 34 N= vJ 140 3.0 39.0|42 15 3NS= +3 400 40 38.0|30 27 3NS-4 +5 -400 7.0 35.0
24 33 54 S-1 *A -50 0.0 42.0(24 33 2vDV-2 #4300 0.0 42.0|43 14 3NS-4 +3 -400 7.0 35.0
- 34 209( - 34 209( - 34 20.9
19 465 20 4« DKn3 21 « DKn84
Syd v Kn985 Vast v72 Nord v 107
(6)%) ¢ Kn10985 Alla + D652 NS + D9
»65 #Kn1097 #D10983
4 EKD73 #Kn84 » EK865 »102 «E107 453
vEK104 D76 v EKDKn93 v4 vKD98 v643
*4 ¢ E2 + K + EKn10974 ¢ K65 ¢ EKnl1087
#EKN8  &#KD1092 &D #6543 &#EKKNn #642
1092 4974 4 K962
v32 v 10865 v EKn52
+ KD763 483 ¢ 432
&743 #EK82 *75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
19 40 5v V= *J -650 420 0.0(14 45 4e V-1 «J 100 42.0 0.0|30 29 5¢ O-2 +2 100 42.0 0.0
14 45 64V +1 ¢J -1390 39.0 3.0(17 42 4v O= *] -620 40.0 20|17 42 3NO-1 *2 50 40.0 2.0
46 7 64V +1 ¢+J -1390 390 30| 9 5 4vV+l LN -650 33.0 9.0|19 40 1v V= *9 -80 38.0 4.0
2 12 64 O+1 ¢+K -1460 240 18.0(10 4 54 V= LN -650 33.0 9.0(25 34 3NV= 2Q -400 350 7.0
9 5 64 V+1 ¢J -1460 24.0 18.0(11 3 4v V+1 *J -650 33.0 9.0(31 28 3NV= 2 Q -400 350 7.0
10 4 64 V+1 ¢J -1460 24.0 18.0(20 39 4v V+1 *] -650 33.0 9.0(14 45 3NV +1 *3 -430 29.0 13.0
11 3 64 V+1 ¢J -1460 24.0 18.0(25 34 44 O+1 A -650 33.0 9.0(20 39 3NV+1 &T -430 29.0 13.0
17 42 64 O +1 &2 -1460 24.0 18.0(41 18 4v V+1 *J -650 33.0 9.0(24 35 3NV+1 4Q -430 29.0 13.0
20 39 64 V+1 ¢J -1460 24.0 180 1 13 4v V+2 LN -680 19.0 23.0(43 16 3NV +1 vT -430 29.0 13.0
21 38 64 V+1 #6 -1460 24.0 180 2 12 4v V+2 &J -680 19.0 23.0| 2 12 3NV +2 L X} -460 15.0 27.0
24 35 64 V+1 ¢J -1460 24.0 180| 6 8 4v V+2 *J -680 19.0 23.0| 6 8 3NV+2 &9 -460 15.0 27.0
26 33 64 V+1 ¢J -1460 24.0 18.0(21 38 4v V+2 LN -680 19.0 23.0(10 4 3NV +2 *9 -460 15.0 27.0
30 29 64 V+1 ¢J -1460 24.0 18.0(26 33 4v V+2 &J -680 19.0 23.0(11 3 3NV+2 *Q -460 15.0 27.0
31 28 64 O+1 ¢J -1460 24.0 18.0(31 28 4v V+2 *J -680 19.0 23.0(21 38 3NV +2 vT -460 15.0 27.0
41 18 64 V +1 ¢5 -1460 24.0 18.0(32 27 4v V+2 LN -680 19.0 23.0|26 33 3NV +2 *3 -460 15.0 27.0
44 15 6e V +1 ¢J -1460 24.0 18.0(46 7 4v V+2 &J -680 19.0 23.0(32 27 3NV +2 vT -460 15.0 27.0
6 8 7v0O= +J -2210 9.0 33.0|19 40 6v V= +J  -1430 5.0 37.0(37 22 3NV +2 &9 -460 15.0 27.0
32 27 74 V= +J  -2210 9.0 33.0|24 35 6y V= «J  -1430 5.0 37.0(41 18 3NV +2 *9 -460 15.0 27.0
1 13 7NV= ¢+J  -2220 3.0 39.0|30 29 6v V= &J -1430 50 37.0(44 15 3NV +2 L X} -460 15.0 27.0
25 34 7NV = ¢J  -2220 3.0 39.0(37 22 6vy O= A -1430 50 37.0( 1 13 3NV +3 &8 -490 2.0 40.0
37 22 7TNO= +K 2220 3.0 39.0|43 16 6v V= «J  -1430 50 370 9 5 3NV+3 &3 -490 2.0 40.0
43 16 7TNO= +K  -2220 3.0 39.0(44 15 6y V= &J -1430 50 37.0(46 7 3NV+3 L X} -490 2.0 40.0
- 36 21.7( - 36 21.7( - 36 21.7
22 « EKD 23 « KD65 24 1098
Ost v KKn84 Syd v DKn87 Vast vD1065
ov +8 Alla .- Ingen + EKn102
#Kn10876 87642 &E3
92 » Kn85 #10843 s E «KD54 &4 EKn73
v95 vED1072 v3 v EK106 vEKKn8 v42
¢+ EKn1064 ¢ D532 4975 + EK1083 + 84 + K963
#KD93 »5 #EDKn103 #K95 #1086 #D92
107643 « Kn972 62
v63 v 9542 v 973
¢ K97 ¢ DKn642 + D75
&E42 »- #KKn754
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
22 39 INN+1 v6 120 420 00[11 5 64DV-2 «2 500 42,0 0.0|20 41 1¢DN+1 +6 240 42.0 0.0
7 9 24 S= v9 110 40.0 20|12 4 5¢DO-1 v4 200 36.0 6.0(22 39 44 V-2 «A 100 39.0 3.0
15 1 3¢ 0-1 «A 100 37.0 50|21 40 5¢ V-2 oK 200 36.0 6.0|33 28 34DO-1 42 100 39.0 3.0
44 17 3¢ V-1 4A 100 37.0 5022 39 5¢ V-2 4K 200 360 6.0(10 6 3s4V-1 A 50 350 7.0
11 5 INN-1 a5 -50 29.0 13.0|25 36 6¢ O-2 a7 200 36.0 6.0(45 16 44 O-1 v7 50 350 7.0
12 4 24 S-1 v8 -50 29.0 13.0|45 16 6# V-2 «Q 200 36.0 6.0|27 34 1¢DN-1 2 -100  32.0 10.0
21 40 34 S-1 v9 50 29.0 13.0|15 1 5¢ 0-1 47 100 29.0 13011 5 24 O= *2 -110 26.0 16.0
26 35 24 S-1 v9 -50 29.0 13.0|33 28 5¢ O-1 7 100 29.0 13.0(12 4 24 0O= v3 -110 26.0 16.0
31 30 24 S-1 v8 -50 29.0 13.0|44 17 2vDS-1 +5 -200 26.0 16.0(21 40 24 O= 46 -110 26.0 16.0
32 29 24 S-1 v9 -50 29.0 13.0| 3 13 3NO+1 a7 -630 18.0 24.0(25 36 24 V= aT -110 26.0 16.0
25 36 24 S-2 49 -100 20.0 22.0(10 6 3NV+1 &2 -630 18.0 24.0(32 29 24 O= a2 -110 26.0 16.0
27 34 34 S-2 v9 -100 20.0 22.0({20 41 3NO+1 a7 -630 18.0 24.0( 2 14 24 O+1 v7 -140 10.0 32.0
45 16 34 S-2 v9 -100 20.0 22.0(24 37 3NV+1 «8 -630 18.0 240| 3 13 34 O= v9 -140 10.0 32.0
3 13 3¢ 0= s A -110 16.0 26.0(26 35 3NV +1 & K -630 18.0 240 7 9 24 O+1 +5 -140 10.0 32.0
10 6 3¢ O+1 43 -130 12.0 30.0(27 34 3NO+1 a2 -630 18.0 24.0(15 1 24 O+1 v3 -140 10.0 32.0
20 41 3¢ V+1 4Q -130 12.0 30.0(42 19 3NV +1 »2 -630 18.0 24.0(18 43 24 O+1 46 -140 10.0 32.0
42 19 3¢ V+1 aA -130 12.0 30.0( 2 14 3NO+2 v5 -660 10.0 32.0(24 37 24 O+1 a2 -140 10.0 32.0
2 14 44 S-3 49 -150 50 370 7 9 3NO+3 *2 -690 7.0 35026 35 24 V+1 &2 -140 10.0 32.0
18 43 34 S-3 v9 -150 50 37.0(46 8 3NO+3 *2 -690 7.0 35.0(31 30 34 O= +3 -140 10.0 32.0
33 28 44 S-3 v9 -150 50 37.0(18 43 1¢DS-3 v3 -800 2.0 40.0|42 19 24 V+1 A -140 10.0 32.0
46 8 44 S-3 v9 -150 5.0 37.0(31 30 3«aDN-3 *A -800 2.0 40.0(44 17 24 O+1 v3 -140 10.0 32.0
24 37 3¢DO+ .7 -870 0.0 42.0(32 29 44DN-3 vK -800 20 400(|46 8 34 0= v3 -140 10.0 32.0
38 - 17.2 38 - 17.2 38 - 17.2
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25 & K9742 26 « KD9 27 45
Nord v D52 Ost vD1054 Syd v DKn874
ov + 109 Alla + EK9 Ingen ¢ Kn843
K43 #Kn63 #3854
 DKn3 « E106 4 Kn863 410754 a7 « EKDKn863
v KKn vE10874 vKKn98 vE73 vK963 v-
+83 + EK65 + D64 410852 ¢ EK109 ¢ 752
#EKN10872 &D #E10 *74 #Kn763 #D92
485 s E2 410942
v 963 v 62 vE1052
¢ DKn742 ¢+ Kn73 + D6
#965 #KD9852 &#EK10
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 7 6v O-1 8 100 41.0 10|12 6 3NN+3 5 690 40.0 20| 3 15 4vDS-1 *A -100 420 0.0
32 31 6NO-1 +2 100 41.0 1.0|21 42 3NN+3 &4 690 40.0 20| 4 14 34 O+2 *A -200 370 5.0
34 29 3NO= *2 -600 38.0 4.0|25 38 3NN+3 4 690 40.0 2.0| 8 10 34 O+2 aT -200 37.0 5.0
26 37 4v O= 48 -620 36.0 6.0 3 15 3NN+2 5 660 33.0 9.0(19 44 34 O+2 *A -200 37.0 5.0
12 6 3NO+1 48 -630 32.0 10.0( 8 10 3NN +2 +5 660 33.0 9.0(25 38 34 O+2 vA -200 37.0 5.0
19 44 3NO+1 48 -630 32.0 10.0({13 5 3NN+2 44 660 330 90(46 9 5¢vDN-2 s A -300 32.0 10.0
25 38 3NV +1 a2 -630 32.0 10.0(43 20 3NN +2 +8 660 330 9.0(21 42 44 O= *A -420 30.0 12.0
4 14 3NO+2 2 -660 22.0 20.0( 4 14 3NN+1 45 630 21.0 21.0| 1 17 44 O+1 *A -450 22.0 20.0
8 10 3NV +2 a2 -660 220 20.0|16 2 3NN+1 +8 630 21.0 21.0(12 6 44 O+1 *A -450 22.0 20.0
27 36 3NV +2 Ly -660 22.0 20.0(22 41 3NN+1 42 630 21.0 21.0(22 41 44 O+1 &K -450 22.0 20.0
33 30 3NV +2 a2 -660 22.0 20.0(28 35 3NN +1 47 630 21.0 21.0(26 37 44 O+1 *A -450 22.0 20.0
39 24 3NV +2 a2 -660 22.0 20.0|32 31 3NN+1 44 630 21.0 21.0(27 36 44 O+1 *A -450 22.0 20.0
43 20 3N O +2 48 -660 22.0 20.0(33 30 3NN +1 ¢+2 630 21.0 21.0(33 30 44 O+1 *A -450 22.0 20.0
46 9 3NO+2 48 -660 22.0 20.0(34 29 3NN +1 &4 630 21.0 21.0|43 20 44 O+1 *A -450 22.0 20.0
1 17 3NO+3 8 -690 7.0 35.0(45 18 3NN+1 44 630 210 21.0(28 35 5¢vDS-3 *A -500 13.0 29.0
3 15 3NV +3 a2 -690 70 35011 7 3NN= 5 600 10.0 32.0(39 24 4vDS-3 43 -500 13.0 29.0
13 5 3NO+3 48 -690 7.0 35026 37 3NN= v3 600 10.0 32.0|34 29 44DO= *A -590 10.0 32.0
16 2 3NO+3 »5 -690 70 350|46 9 3NN= v3 600 100 320(11 7 44DO+1 &A -690 5.0 37.0
21 42 3NV +3 a2 -690 7.0 35019 44 1vDV-1 K 200 6.0 36.0(13 5 44DO+1 &A -690 5.0 37.0
22 41 3NV +3 +Q -690 7.0 35.0(27 36 3#S+2 48 150 40 38.0(16 2 44DO+1 #A -690 5.0 37.0
28 35 3NV +3 *T -690 70 350(| 1 17 3#S+1 v9 130 1.0 41.0|32 31 44DO+1 &A -690 5.0 37.0
45 18 3N O +3 a7 -690 7.0 35039 24 34 S+1 46 130 1.0 41.0|45 18 5vDS-5 47 -1100 0.0 42.0
- 40 13.8( - 40 13.8( - 40 13.8
28 « EKD82 29 « DKn10532 30 « KKn109
Vast v 763 Nord v 873 Ost vKD8
NS + K4 Alla + K8 Ingen + D97
&#EKn10 »63 &E52
210754 #Kn93 4 E987 464 4 E6432 4875
vD1084 vK52 vD10 vKn5 v Kn2 v 97653
4832 + EKn9 + D974 ¢ EKNn65 ¢ EKKn84 ¢ 10
*84 #D973 #DKn5 #109874 »8 #KD109
46 4K «D
v EKn9 v EK9642 vE104
¢+ D10765 ¢ 1032 4 6532
£#K652 &EK2 *Kn7643
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
4 16 3NS+2 v8 660 39.0 3.0[|17 3 4v N+2 «A 680 40.0 2.0|34 31 44DV -4 vK 800 42.0 0.0
26 39 3NN +2 &7 660 39.0 3.0|26 39 44 N+2 vJ 680 40.0 2.0|22 43 34DV-3 vK 500 39.0 3.0
35 30 3NN +2 3 660 39.0 3.0(44 21 4v S+2 «Q 680 40.0 2.0|26 39 34DV-3 vK 500 39.0 3.0
44 21 3NN +2 &7 660 39.0 30(12 8 44 N= 46 620 30.0 120| 2 18 34DV-2 vK 300 33.0 9.0
14 6 3NN+1 43 630 31.0 11.0|14 6 4v S= ¢7 620 30.0 12.0|27 38 34DV-2 vK 300 33.0 9.0
17 3 3NN+1 2 630 31.0 11.0|20 45 4v S= «Q 620 30.0 12.0(33 32 34DV-2 «A 300 33.0 9.0
29 36 3NN +1 &7 630 31.0 11.0|22 43 4v S= +Q 620 30.0 12.0(46 10 34DV-2 «A 300 33.0 9.0
40 25 3NN +1 43 630 31.0 11.0|24 41 44 S= ¢7 620 30.0 12.0| 5 15 34 V-3 K 150 27.0 15.0
2 18 3NS= v4 600 19.0 23.0(35 30 44 N= T 620 30.0 12.0|(28 37 3v O-3 4Q 150 27.0 15.0
5 15 3NN= 3 600 19.0 23.0(46 10 4v S= ¢7 620 30.0 120| 1 19 34 V-2 vK 100 21.0 21.0
12 8 3NS= v8 600 19.0 23.0(33 32 3NS= +4 600 220 20.0| 9 11 34DV-1 2 100 21.0 21.0
13 7 3NS= v8 600 19.0 23.0| 5 15 3v S+3 «Q 230 20.0 22.0(24 41 24DV-1 vK 100 21.0 21.0
22 43 3NS= v2 600 19.0 230 1 19 3v S+1 «Q 170 12.0 30.0(40 25 24 V-2 vK 100 21.0 21.0
24 41 3NS= v8 600 19.0 23.0| 2 18 2v S+2 «Q 170 120 30.0( 4 16 24 V-1 vK 50 9.0 33.0
27 38 3NS= v4 600 19.0 23.0| 4 16 3v S+1 «Q 170 120 30.0(12 8 24 V-1 vK 50 9.0 33.0
34 31 3NN= v3 600 19.0 23.0( 9 11 3v S+1 «Q 170 120 30.0(13 7 24 V-1 vK 50 9.0 33.0
1 19 3NN-1 v3 -100 6.0 36.0|27 38 24 N+2 vJ 170 120 30.0(14 6 24 V-1 *7 50 9.0 33.0
20 45 3NS-1 a4 -100 6.0 36.0(28 37 3v S+1 «Q 170 120 30.0(17 3 24 0-1 vK 50 9.0 33.0
28 37 3NN-1 3 -100 6.0 36.0(29 36 3v S+1 «Q 170 12.0 30.0(20 45 24 V-1 *7 50 9.0 33.0
33 32 3NS-1 v8 -100 6.0 36.0[13 7 34 N= vJ 140 3.0 39.0|35 30 24 V-1 vK 50 9.0 33.0
46 10 3NS-1 v8 -100 6.0 36.0[/40 25 3v S= «Q 140 3.0 39.0(44 21 24 V-1 *A 50 9.0 33.0
9 11 3NN-2 *6 -200 0.0 42.0|34 31 64 N-1 *A -100 0.0 42029 36 24 V= vK -110 0.0 42.0
- 42 149( - 42 149( - 42 14.9
31 10763 32 & K2 33 « E97652
Syd v D62 Vast v7 Nord vD
NS + E108 ov 49732 Ingen + D102
£E86 #KKn10872 #Kn102
4 E4 4 D982 4 D104 #9653 4Knl0 &D84
vK983  vKnl074 v EKD9852 v103 v 832 v EK109764
¢ Kn653 ¢ K74 + K64 4 Kn5 ¢+ KKn98 +¢5
#KKn10 #D9 »- #ED654 &#EK54 493
« KKn5 « EKn87 4 K3
vES5 v Kn64 v Kn5
¢+ D92 + ED108 ¢ E7643
#75432 #93 D876
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
28 39 2v V-2 43 100 420 0.0(36 31 44DO-1 9 200 410 10|15 7 5vDO-1 K 100 40.0 2.0
2 20 2¢v0-1 »5 50 31.0 11.0|46 11 3vDV-1 K 200 41.0 10|24 43 4vDO-1 K 100 40.0 20
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3 19 V-1 46 50 .0 11.0 40 3v V= &T -140 . 5.0 4vDO-1 «K 100 40.0 2.0
5 17 0-1 vA 50 .0 11.0 38 3v V= &8 -140 . 5.0 4v O -1 & K 50 33.0 9.0
13 9 0-1 *2 50 .0 11.0 20 3v V+1 7 -170 .0 15.0 4v O -1 aK 50 33.0 9.0
18 4 0-1 &2 50 .0 11.0 19 3v V+1 &8 -170 .0 15.0 4v O -1 &K 50 33.0 9.0
24 43 O-1 a5 50 .0 11.0 16 3v V+1 +9 -170 .0 15.0 4v O -1 s A 50 33.0 9.0
25 42 V-1 46 50 .0 11.0 7 3vV+1 a7 -170 .0 15.0 44 N -2 vA -100 28.0 14.0
30 37 0-1 vA 50 .0 11.0 4 29y V+2 +3 -170 .0 15.0 3v 0= &K -140 25.0 17.0
34 33 0-1 &2 50 .0 11.0 42 3v V+1 &6 -170 .0 15.0 3v 0= & K -140 25.0 17.0
46 11 2v O-1 vA 50 .0 11.0 32 2v V+2 7 -170 .0 15.0 44D N -2 vA -300 22.0 20.0
29 38 0.0 22.0 26 3v V+1 +3 -170 .0 15.0 4v O = &K -420 16.0 26.0
27 40 24 N-1 vJ -100 8.0 24.0 22 5 N-4 vT -200 8.0 24.0 4v O = &7 -420 16.0 26.0
10 12 2v O = a2 -110 9.0 33.0 12 3#DN-3 vT -500 6.0 26.0 4v O = &K -420 16.0 26.0
14 8 2v 0= &2 -110 9.0 33.0 17 4v V= +3 -620 8.0 34.0 4v O = a3 -420 16.0 26.0
15 7 2v 0= &2 -110 9.0 33.0 9 4v V= +3 -620 8.0 34.0 4v O = &7 -420 16.0 26.0
21 1 2v V= 46 -110 9.0 33.0 8 4v V= +9 -620 8.0 34.0 4v O +1 *6 -450 6.0 36.0
35 32 = 46 -110 9.0 33.0 1 4v V= +3 -620 8.0 34.0 4v O +1 *A -450 6.0 36.0
36 31 = vA -110 9.0 33.0 43 4y V = +3 -620 8.0 34.0 4v O +1 & K -450 6.0 36.0
41 26 = *2 -110 9.0 33.0 39 4v V= & -620 8.0 34.0 4v O +1 *A -450 6.0 36.0
45 22 2v V= 46 -110 9.0 33.0 33 4v V= +3 -620 8.0 34.0 5v O= &K -450 6.0 36.0
6 16 2v V+1 SA -140 0.0 42.0 37 4vDV = 7 -790 0.0 42.0 4vD O = & K -590 0.0 42.0
- 44 23.4 44 23.4 23.4
34 & K954 «D5 « D974
Ost v D62 v5 vKD
NS + 864 ¢+ EKn64 ¢ KKn97
&ED9 #DKn10762 &Kn82
4 Kn632 «87 4Knl073 & E64 4 EKKn8 #1063
v KKn v 109854 vK10864 v ED93 vEKn843 ¢75
+ K52 ¢ E93 *72 + 1093 +53 + ED42
#8743 #KKnl10 &53 &EK4 &54 &E763
«EDI10 « K982 452
vE73 vKn72 v 10962
+ DKn107 + KD85 + 1086
652 98 &KD109
Par Kontr Ut Res Poang Par Kontr Ut Res Kontr Ut Res Poang
31 38 3NN= vT 600 0.0 45 34DN= ¢T 470 0.0 3e V-1 vK 100 39.0 3.0
11 13 INN+2 vlJ 150 3.0 32 3NO -1 9 100 2.1 3v V-1 2 100 39.0 3.0
30 39 INS+2 &3 150 3.0 21 2v O +1 +K -140 10.5 2NO -1 &K 100 39.0 3.0
35 34 24 N+1 vT 140 6.0 20 2v O+1 v2 -140 10.5 INO-1 &T 100 39.0 3.0
6 18 INS+1 a2 120 13.0 17 3v V= *Q -140 10.5 INO= &T -90 28.0 14.0
7 17 INS+1 vyK 120 13.0 10 2v V+1 &Q -140 10.5 INO= a5 -90 28.0 14.0
14 10 2NS= &4 120 13.0 43 3v V= &Q -140 10.5 INO= &K -90 28.0 14.0
26 43 INS+1 8 120 13.0 40 3v O= &9 -140 10.5 INO= &K -90 28.0 14.0
29 40 = &6 120 .0 13.0 38 3v V= &Q -140 10.5 INO= &K -90 28.0 14.0
46 12 INS+1 &4 120 .0 13.0 18 3v V+1 &Q -170 27.3 INO= &K -90 28.0 14.0
15 9 INS= &8 90 .0 26.0 5 3vV+1 *Q -170 27.3 INO= &K -90 28.0 14.0
19 5 INN= v5 90 .0 26.0 2 3vV+1 &Q -170 27.3 2y V= &2 -110 18.0 24.0
22 2 INS= &7 90 .0 26.0 41 3v V+1 *Q -170 27.3 2y V= &2 -110 18.0 24.0
24 45 INS= *8 90 .0 26.0 39 2v O+2 *9 -170 27.3 26 V= »8 -110 18.0 24.0
25 44 INS= L 2] 90 .0 26.0 34 2v O+2 &9 -170 27.3 2NO = &K -120 13.0 29.0
28 41 INS= &4 90 16.0 26.0 33 2v V+2 &Q -170 27.3 INO +1 &K -120 13.0 29.0
36 33 INN= va 90 16.0 26.0 27 2v O +2 v2 -170 27.3 2v V +1 a7 -140 10.0 32.0
3 21 24 N-1 vT -100 7.0 35.0 12 2v O +2 *9 -170 27.3 24 N-4 v5 -400 8.0 34.0
42 27 2N S-1 &7 -100 7.0 35.0 13 3NO = &9 -600 37.8 24D S -2 a A -500 6.0 36.0
4 20 3NS-2 *4 -200 4.0 38.0 9 4v V= *Q -620 40.9 44 O = &K -620 4.0 38.0
16 8 3NS-3 &4 -300 2.0 40.0 44 4v V = &Q -620 40.9 2¢ DN-3 v7 -800 1.0 41.0
37 32 2NRDS-1 vK -400 0.0 42.0 - 24D N -3 v7 -800 1.0 41.0
1 - 20.5 8 A-/A- 20.5
37 & K2 « K87 4952
Nord v 842 v K6 vD764
NS ¢ 42 + 832 + K83
#E£109842 #K10876 »K92
&4 Kn763 «ED10 aKn2 &ED9 & KDKn1087 «E64
v Kn7 v EK1053 vE87 vD95432 v Kn852 v EK3
+Kn95 ¢ E106 + EK54 ¢ 10976 ¢- + E1094
&#KKn63 &D7 D932 &- &E53 &#Kn84
#9854 106543 a3
v D96 vKnl10 v109
+ KD873 ¢+ DKn ¢ DKn7652
&5 &#EKn54 #D1076
Par Kontr Ut Res Poang Par Kontr Ut Res Kontr Ut Res Poang
26 45 3NV -2 +4 100 1.0 39 24 S-1 *A -50 0.0 74 V-2 a2 200 420 0.0
29 42 3NO-2 4 100 1.0 40 3¢ V= *2 -110 2.0 6e V-1 5 100 340 8.0
31 40 3NO-1 *2 50 7.0 22 1v O+5 *+Q -230 14.0 64 V-1 42 100 340 8.0
32 39 3v0O-1 &5 50 7.0 18 2v V +4 a7 -230 14.0 64 V-1 42 100 340 8.0
43 28 44 V-1 SA 50 7.0 14 1v O +5 a3 -230 14.0 6N O -1 +5 100 340 8.0
46 13 3NO-1 *+K 50 7.0 10 2v O +4 +Q -230 14.0 564 V-1 3 100 340 8.0
27 44 2N O +2 7 -180 12.0 45 3v O +3 vJ -230 14.0 6e V-1 42 100 340 8.0
36 35 2N O +3 +K -210 14.0 42 3v O +3 +Q -230 14.0 6e V-1 &2 100 340 8.0
15 11 2N O +4 +3 -240 16.0 41 3v V+3 +8 -230 14.0 4a V = »2 -620 26.0 16.0
5 21 3NV= &8 -400 22.0 35 3v O+3 +Q -230 14.0 4e V +1 a2 -650 15.0 27.0
7 19 = +K -400 22.0 34 2v V+4 *2 -230 14.0 4e V +1 a2 -650 15.0 27.0
8 18 = *+K -400 22.0 28 3v O +3 a3 -230 14.0 4e V +1 a2 -650 15.0 27.0
30 41 = &5 -400 22.0 13 2v O +4 +Q -230 14.0 4e V +1 a2 -650 15.0 27.0
38 33 3NV = *4 -400 22.0 24 4v O +2 +Q -680 34.0 be V= a2 -650 15.0 27.0
2 24 3NO+1 *+K -430 34.0 21 4v O +2 vJ -680 34.0 4a V +1 a2 -650 15.0 27.0
4 22 3NV +1 &9 -430 34.0 19 4v O +2 +Q -680 34.0 46 V +1 v4 -650 15.0 27.0
12 14 3NO+1 +K -430 34.0 11 4v O +2 a3 -680 34.0 4e V +1 a2 -650 15.0 27.0
16 10 3NO +1 +3 -430 34.0 9 4y O +2 »2 -680 34.0 4e V +1 »2 -650 15.0 27.0
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17 9 3NV +1 *9 -430 8.0 34.0(20 6 4v V+2 *6 -680 8.0 34.0|43 28 44 V+1 v4 -650 15.0 27.0
20 6 3NV+1 &4 -430 8.0 340|125 1 4v V+2 a7 -680 8.0 340|120 6 3NO+2 vT -660 4.0 38.0
25 1 3NO+1 &T -430 8.0 34.0|27 44 4v O +2 +Q -680 8.0 34.0(17 9 44 O+2 &2 -680 2.0 40.0
37 34 3NV +2 *9 -460 0.0 42.0(38 33 4y O+2 *Q -680 8.0 34.0|38 33 64 V= v6 -1430 0.0 42.0
- 3 193] - 3 193] - 3 19.3
40 & KD 41 & K9 42 « ED1076
Vast v 106 Nord v EDKn72 Ost v K87
Ingen + D10642 ov ¢ EKn7 Alla ¢+ Kn4
&D1052 &K73 &#EKN3
4E104 & Kn962 4E865 & DKn42 & Kn83 & K2
vKn953 v D84 v10984 ¢63 v- v Kn1096
¢ EKn97 ¢85 +KD10 86 + D87653 ¢ E102
&K4 #Kn863 D5 &E8642 #D1064 #9752
#8753 #1073 «954
v EK72 v K5 v ED5432
¢ K3 ¢ 95432 + K9
&E97 &#Kn109 #K8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
33 40 INDV-3 +2 500 420 00|46 14 3NS= 46 400 420 0.0]37 36 3NN+1 &2 630 420 0.0
13 15 INS+2 v6 150 40.0 2.0|13 15 2v N+3 +8 200 39.0 30| 3 25 4v S= ¢7 620 21.0 21.0
24 4 INN+1 46 120 37.0 50|30 43 34 0-2 vyK 200 39.0 30| 6 22 4v S= ¢7 620 21.0 21.0
26 2 INN+1 a2 120 37.0 50|31 42 2NN +2 &2 180 360 6.0 8 20 4v S= +5 620 21.0 21.0
9 19 2¢ N+1 &6 110 33.0 9.0(24 4 INN+2 &2 150 340 80| 9 19 4v S= +5 620 21.0 21.0
28 45 2¢ N+1 v2 110 33.0 9.0|18 10 1v N+2 &A 140 31.0 11.0|13 15 4v S= +5 620 21.0 21.0
38 35 1lv V-2 +2 100 29.0 13.0(44 29 2v N+1 +8 140 31.0 11.0(16 12 4v S= +5 620 21.0 21.0
44 29 INDV-1 &2 100 29.0 13.0( 8 20 2vy N= +8 110 24.0 18.0(17 11 4v N= &2 620 21.0 21.0
18 10 INS= +9 90 240 18.0(27 1 2vy N= +8 110 24.0 18.0|18 10 4v S= +3 620 21.0 21.0
27 1 2¢ N= vQ 90 24,0 18.0|28 45 1v N+1 42 110 240 18.0(21 7 4v S= &6 620 21.0 21.0
31 42 INS= +9 90 24.0 18.0(33 40 1v N+1 «Q 110 240 18.0(24 4 4v S= ¢7 620 21.0 21.0
6 22 INV-1 *2 50 17.0 25.0|37 36 1v N+1 4Q 110 240 18026 2 4v S= &4 620 21.0 21.0
16 12 INV-1 *2 50 170 250 3 25 24 O-1 vK 100 15.0 27027 1 4v S= +3 620 21.0 21.0
21 7 1lv V-1 4Q 50 17.0 25.0(17 11 24 O-1 &2 100 15.0 27.0|28 45 4v S= ¢2 620 21.0 21.0
30 43 INV-1 *4 50 17.0 25.0|21 7 24 0-1 vK 100 15.0 27.0(30 43 4v S= &6 620 21.0 21.0
3 25 3NN-1 +8 -50 11.0 31.0(32 41 24 O-1 vyK 100 15.0 27.0|31 42 4v S= +2 620 21.0 21.0
37 36 INN-1 46 -50 11.0 31.0(26 2 2¢ S= a A 90 10.0 32.0|33 40 4v S= &6 620 21.0 21.0
32 41 3NS-2 aT -100 6.0 36.0( 9 19 2NN-1 4Q -50 6.0 36.0(38 35 4v S= +6 620 21.0 21.0
39 34 24 N-2 &6 -100 6.0 36.0[38 35 3v N-1 v6 -50 6.0 36.0|39 34 4v S= +5 620 21.0 21.0
46 14 INS-2 v5 -100 6.0 36.0[39 34 3v N-1 4Q -50 6.0 36.0|44 29 4v S= +5 620 21.0 21.0
8 20 24 O= vA -110 2.0 40.0(16 12 3NS-2 46 -100 2.0 40.0(46 14 4v S= +6 620 21.0 21.0
17 11 24 O +1 *2 -140 0.0 42.0| 6 22 24 V+2 *A -170 0.0 42.0|32 41 54DN-2 vJ -500 0.0 42.0
5 - 19.7 5 - 19.7 5 - 19.7
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